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That an individual testimony is invalid — %105 RYTR NTAR MTYY

OVERVIEW
The X 1) cites X210 12 XMW " who teaches us the source from where we derive
that N7 M7V is 2109, Our NMdOIN explains what N7 MTY means.
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The explanation of N2 M7V is that one 7Y saw it from this window, and the

other 7v saw if from the other window -
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And this statement by X*2 72 X7V M is a statement by itself, and it is not

referring to our mwn, for our 71w~ is not discussing such a case (of 'x 771 1o TR
7T N91n), but rather our 73wy is discussing a case of 121 71 N9 '21 AT NP 2.

SUMMARY
N7 M7V is when each 7V sees the act from a separate window; however our 71wn
1s discussing where two sets of (two) 0°7V see the act from two separate windows.

THINKING IT OVER
Is there any connection between our 71wn and the ruling of 27 %X v"2r7, which is
mentioned immediately after the 7awn?’

' Seemingly noon is repeating "2 (see footnote # 2). Perhaps '01n is teaching us that ©"217 is not referencing the
mwn, for our mwn is discussing 131 '21 71 1°2m 2. See 117 7" 'on at the beginning of this Ty,

% See m7v "7 >"wA, which concludes "Xt X7 1°XY; presumably mooin agrees with *"wA for in the 71"10 it states clearly
T'RT PRI PRI

? See (also) 2 P"0 12 0 WA NIXP.
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